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(Marks 3)

Determine the level V, andlD for the network shown in figure (1)

1 W2
In —16V

D4
D3 D2
Si &
.é 'D

—~ 3
-6 02 4+ .7 + JD ®*d QD KX)o /2 =
b= —c3-12

—d
J. = = f. 385+ I~ A
D 92 % [ -

L2

——

— 5
= 435741 “Y2Lfpiz =SV
POCOCSOCAE  mrahmedmahdy.com 0567630097 - 0565657741 — Jss  ANRCHANGANTAC




(Marks 3)
Sketch the output waveform for the network in fig.(2). With write solution
steps.

Fig.(2)
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(Marks 4)

Sketch the output waveform for the network of figure (3) with silicon diode
for the input indicated. With write solution steps.
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